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3.1 

 

Im Dreieck FMB gilt: 
 

                BM       
tan 77° = ---- | * FB 

                FB        

 
tan 77° * FB = BM | :tan 77° 

 
 



            BM         4,5 cm 

FB = --------- = ---------- = 1,04 cm 

          tan 77°     tan 77°   

 
Im Dreieck GNB gilt: 

 

                NB  
tan 77° = ---- | * GN 

                GN   
 

tan 77° * GN = BN | :tan 77° 
 

            BN          2,5 cm   
GN = --------- = ---------- = 0,58 cm 

          tan 77°      tan 77° 
 

3.2 

 

V = VKegelBEF + VHalbkugelABC - VKegelBDG 
 

                π * FM² * BM       π * 1,04² * 4,5    

VKegelBEF = ----------------- = ------------------- cm³ = 5,09 cm³ 
                        3                          3  

 
                     AC³ * π      5³ * π                      

VHalbkugelABC = ---------- = --------- cm³ = 32,71 cm³ 
                         12            12  

 
                 π * GN² * BN       π * 0,58² * 2,5 

VKegelBDG = ----------------- = ------------------- cm³ = 0,88 cm³ 
                          3                          3 

 
V = 5,09 cm3 + 32,71 cm³ - 0,88 cm³ = 36,92 cm³ 

 


